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run_13071010 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13071010 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13071010 FGT_ADC _1,Timebin=2,Disc=1,asmb=1AB
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run_13071010 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13071010 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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run_13071010 FGT_ADC _1,Timebin=2,Disc=1,asmb=1AB
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run_13071010 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13071010 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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run_13071010 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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run_13071010 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
Sun Mar 11 03:57:23 2012
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run_13071010 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB

Sun Mar 11 03:54:46 2012
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run_13071010 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Sun Mar 11 03:56:45 2012
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run_13071010 FGT_RMS 1,Timebin=2,Disc=2,asmb=2AB
Sun Mar 11 03:57:23 2012
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run_13071010 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB
Sun Mar 11 03:54:50 2012
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run_13071010 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Sun Mar 11 03:56:46 2012
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run_13071010 FGT_RMS 1,Timebin=2,Disc=2,asmb=2AB

Sun Mar 11 03:57:25 2012
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run_13071010 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 11 03:54:55 2012
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run_13071010 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 11 03:56:48 2012
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run_13071010 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 11 03:57:26 2012
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run_13071010 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sun Mar 11 03:54:59 2012
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run_13071010 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 11 03:56:49 2012
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run_13071010 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 11 03:57:27 2012
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run_13071010 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Sun Mar 11 03:55:03 2012
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run_13071010 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB

Sun Mar 11 03:56:50 2012
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run_13071010 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sun Mar 11 03:57:28 2012
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run_13071010 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB

Sun Mar 11 03:55:05 2012
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run_13071010 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
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run_13071010 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sun Mar 11 03:57:29 2012
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run_13071010 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
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run_13071010 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
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run_13071010 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Sun Mar 11 03:57:30 2012
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run_13071010 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sun Mar 11 03:55:10 2012

[ADC for FGT RDO=1,ARM=3,APV=5 }

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=6 }

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1LARM=3,APV=7 }
|

3000 4000
raw ADC

0 1000 2000

[ADC for FGT RDO=1,ARM=3,APV=8 }

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=3,APV=9 l

ﬂéﬁ)(}ped

ill i i
0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=3,APV=5

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=3,APV=6

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B L L L L L LD LA i

[ ADC for FGT RDO=1,ARM=3,APV=7

4000

" 1
40 60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=3,APV=8

40 60 80 100 120

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° nn]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=3,APV=9

40 60 80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© A AR A A

APV channel

.. A .. 4 W, .1 A0 R

10°

10

10°

10

10




run_13071010 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Sun Mar 11 03:56:52 2012
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run_13071010 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Sun Mar 11 03:57:30 2012
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run_13071010 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Sun Mar 11 03:55:14 2012
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run_13071010 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Sun Mar 11 03:56:53 2012
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run_13071010 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sun Mar 11 03:57:31 2012
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run_13071010 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Sun Mar 11 03:55:19 2012
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run_13071010 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
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run_13071010 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sun Mar 11 03:57:32 2012
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run_13071010 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Sun Mar 11 03:55:20 2012
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run_13071010 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
Sun Mar 11 03:57:38 2012

[ADC RMS for RDO=2,ARM=0,APV=12__}

RMS (ADC-ped)

400

350

300

250

200

150

100

50 [

0

o

. . ; ;
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=13 "}

1
120
APV channel

i
120

APV channel

g 100 f:

9]

o

)

o 80 |+

2 g

'3
60 [+
40
20 -
0

[CADC RMS for

=3

2

[}

[a}

<

0

=

o

[TADC RMS for RDO=2,ARM=0,APV=15__}

=

g

o

[=]

<

%]

=

['4

I
120

APV channel

| ADC RMS for RDO=2,ARM=0,APV=16 }

RMS (ADC-ped)

120 [

i

120
APV channel
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run_13071010 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
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run_13071010 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
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run_13071010 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
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run_13071010 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Sun Mar 11 03:57:41 2012

[ADC RMS for RDO=2,ARM=1,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13071010 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
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run_13071010 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
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run_13071010 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
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run_13071010 FGT_ADC_1,Timebin=2,Disc=2,asmb=2CD
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run_13071010 FGT_RMS 1,Timebin=2,Disc=2,asmb=2CD
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run_13071010 FGT_ADC_1,Timebin=2,Disc=2,asmb=2CD
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run_13071010 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Sun Mar 11 03:57:47 2012

[ADC RMS for RDO=2,ARM=3,APV=0_}

h—

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=1 "}

= —
2 =
(8] e
o 120 b—
) —
@ —
= 100 [ - - m o r e
x [
80 fe
[
60
P o o SEEEEEEEEP TR [ RN E SO 2 EEE 8 8 F £ C EERS & K EREE) R EREE X £ E Sl ERE O o BX £ oy XX BEn Bog B S B =t ¥, O CR J R PR RSy 5 R § F E 0
[
Pl o R TR ) T o ] e B B B £ B R R o e R e R R PR E P LR PP &
[
= i
0 120

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=2 "}

= 200
3
g 0
y 180 =
o
< 160 [
g
x 140 f/—
120 [
100 [
80
60 f
40
20 : : . : Bosos0a090a500a230s Boososes

1
120
APV channel

0

160

140

RMS (ADC-ped)

120
100

80
60 Laca ; ; ] ] : 44

40

20 A i 3 q Booooo|lol[osoosonacs000d N

i
120
APV channel

0

[ ADC RMS for RDO=2,ARM=3,APV=4 "}

20— es e ELLEETE e O ELTTTEE TR e LT e L LT LT SRR
180 f—=

160

RMS (ADC-ped)

140 =
120 7
100
80 [
60

0 : 2 : - LI
= : : 2 T
20 : facesssasagbdieascascag Seoosescansscacasasass bacacasesssessessascass Seoosescacasgialfssasass dladpesas

0
120
APV channel




run_13071010 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC
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